' ? @ YeThIpe 3HAKa MOCJIe 3aIsATON, MOPSAIOK OTepaluii co
CKOOKaMu

Nwms: Hara:_ Omenka:
18(2,7+5,4)+ 6= 36(5,6 +3,9)+ 6=

2,7—4,6(3,4+4,2)= 3,1 -3,8(2,9-6,1)=

6,2+2,8(6—3,5)= (3,2+6,1)x6,1+6,8=
2,8+5,1(6,8+2,3)= (5,4+6,2)x6,2+5,6=

(4,3+2)x3,7+5= (36+6+5,3)x5,2=
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' ? @ YeThIpe 3HAKa MOCJIe 3aIsATON, MOPSAIOK OTepaluii co
CKOOKaMu

Nwms: Hara:_ Omenka:
18(2,7+5,4)+~6=243 36(5,6+3,9)+~6=>57
2,7—4,6(3,4+4,2)=—-32.26 3,1 -3,8(2,9—-6,1)=15.26
6,2+2,8(6—3,5) =132 (3,2+6,1)x6,1+6,8=1063.53
2,8+5,1(6,8 +2,3)=49.21 (5,4+6,2)x6,2+5,6="77.52
(4,3+2)x3,7+5=2831 (36 +6+5,3)x5,2=758.76
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